
Lessouf 0112112022

Lasttime I f
Evalues X 3 41 72 3 4

tote Xz I if has real entries
then any complex e value
come in conjugate pairs

Find eigenvector assoc to Xi

A X E E

ti ailli.tl 1
Giv 44 0 vz iv

4 u Giv o V2 tv
Notice give the same information

Ign
u in

S Vz iv
so an e vector is If

so a satin is y et 4 t



Need a second line indep soli

Istway Look at conjugate e value Xz
and find e vector

Befre
Igejector yassoe

to t so

and tz I

Ect 2,7 É Iz so

AT XI conjugates entrybyentry

É Ii I II I has realentries
so 1 1

a It
IT is an eigenvector for Xz

SI an eigenvector for 42 3 41 is

f
A second lin indep so n

Ct et 3 est f



Gen Solin

It c et tilt
f get 4iltf

Cl G E Q

2nd way to get a second Sol'u

YETI a real entries

Take real port entry by entry

Re x Re EE
Fact if c ER then Re Cz c Re z

and Im Cz clm z

so

Reg A Rece bec has
red entries

so if I is a soli Rey is a soin

In the same way Im I is also a solve

if Rey im I are linearly indep
then general sol n to IE E is



given by
you a Re Altar 1m

where ICH solves E I WI

I having real entries
there a az E d if we have
real initial data then a az ER

how find Me Im of yet et
tilt

Use Euler's formula oh ee Ier

If a b ER they
eatib ed cos b ti sin bl

Note
ea ib.ca cost b ti sin tb

ea cos b i sin b

low Ect et
41 tf

Itil
é't cos at tis.in 4tl i










